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Grand Test – SCP-180553 

SBI Clerk Preliminary Grand Test –SCP-180553 
HINTS & SOLUTIONS 

 

ANSWER KEY 
1. (1) 21. (2) 41.(1) 61. (2) 81. (5) 

2. (4) 22. (5) 42. (3) 62. (3) 82. (5) 

3. (5) 23. (1) 43. (1) 63. (1) 83. (5)

4. (2) 24. (3) 44. (2) 64. (4) 84. (4)

5. (4) 25. (2) 45. (3) 65. (3) 85. (2)

6. (3) 26. (4) 46. (4) 66. (4) 86. (4) 

7. (2) 27. (1) 47. (1) 67. (5) 87. (5) 

8. (2) 28. (5) 48. (1) 68. (4) 88. (3) 

9. (1) 29. (2) 49. (5) 69. (5) 89. (1) 

10. (4) 30.(3) 50. (2) 70. (4) 90. (2) 

11. (3) 31. (3) 51. (4) 71. (1) 91. (4)

12. (5) 32. (1) 52. (1) 72. (4) 92. (3)

13. (2) 33. (4) 53. (2) 73. (2) 93. (5)

14. (5) 34. (5) 54. (2) 74. (3) 94. (1)

15. (1) 35.(1) 55. (4) 75. (5) 95. (5)

16. (2) 36.(4) 56.(2) 76. (5) 96. (5) 

17. (5) 37.(3) 57.(3) 77. (3) 97. (1)

18. (1) 38.(2) 58.(5) 78. (5) 98. (2) 

19. (1) 39. (1) 59. (3) 79. (2) 99. (3) 

20. (4) 40. (2) 60. (2) 80. (2) 100. (4)  
 

HINTS & SOLUTIONS 
 
1. (1)   2. (4)   3. (5) 
4. (2)   5. (4)   6. (3) 
7. (2)   8. (2)   9. (1) 
10. (4)   11. (3)   12. (5) 
13. (2)   14. (5)   15. (1) 
16. (2) Replace ‘in’ with ‘for’. 
17. (5) No error. 
18. (1) Replace ‘have’ with ‘has’. 
19. (1) Replace ‘having’ with ‘being’. 
20. (4) Remove ‘been’. 
21. (2)   22. (5)   23. (1) 
24. (3)   25. (2)   26. (4) 
27. (1)   28. (5)   29. (2) 
30.(3) 
31. (3)  The number series is as follows: 

6 × 5 + 9 = 39 
39 × 5 + 18 = 213 
213 × 5 + 27 = 1092 ¹  1090 
1092 × 5 + 36 = 5496 
5496 × 5 + 45 = 27525 

32. (1)  The number series is as follows: 
17 + 35  = 142 ¹  141 

142 + 36  = 358 
358 + 37  = 701 
751 + 38  = 1213 
1213 + 39  = 1942 

33. (4)  The number series is as follows: 
6 × 3 – 4 = 14 
14 × 4 – 5 = 51 
51 × 5 – 6 = 249 
249 × 6 – 7 = 1487 ¹ 1486 
1487 × 7 – 8 = 10401 

34. (5)  The number series is as follows: 
8 + 24  - 24 
24 + 28  = 88 
88 + 212  = 232 
232 + 216  = 488 
488 + 220  = 888 ¹  887 

35.(1)  The number series is as follows: 
8 × 3 – 2 = 22 ¹  21 
22 × 4 – 3 = 85 
85 × 5 – 4 = 421 
421 × 6 – 5 = 2521 
2521 × 7 – 6 = 17641 

36.(4)  Monthly salary on household items = 80% 
Remaining salary = 20% 

Monthly salary on clothes and transport = 50
20 10%

100
´ =  

Monthly expenditure on clothes and transport 

= 5370
Rs.447.50

12
=  

37.(3)  Let total registered voters = 100x  
Remaining voters cast their votes = 70x  
ATQ, 70x – 180 – 42x = 684 
Þ 28x = 684 + 180 Þ 28x = 864 

86470x 70x 2,160
28x

\ = ´ =  

38.(2)  Let the present age of Radha and Sunita be 4x and 5x  
respectively. 

ATQ, 4x 6 6
5x 6 7

+
=

+
 

Þ 28x + 42 = 30x + 36 Þ x = 3 years 
\Required difference = (7 - 6) ´  3 = 3 years 

39.  (1)  Let  the  monthly  income  of  A  and  B  are  5x  and  4x  
respectively and their expenses are 4y and 3y respectively. 
ATQ, 
5x- 4y = 1200 (i) 
4x- 3y = 1200 (ii) 
Equation (i) ´  3 - equation (ii) ´  4, we get 
Þ 15x - 12y - 16x + 12y = 3,600 – 4800 Þ x = 1,200 
Monthly income of A = 1200 ´  5 
= Rs. 16,000 and monthly income of B 
= 1,200 ´  4 = Rs. 4,800 

40. (2)  Let the number of boys and girls be b and g respectively. 
ATQ, 71b + 73g= 71.8 (b + g) 
Þ 71b + 73g = 71.8b + 71.8g 
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Grand Test – SCP-180553 
Þ 0.8b = 1.2g 

Þ  b 1.2 3
3: 2

g 0.8 2
= = =  

41.(1)  Required total = (10.5 + 4.5 + 8.25) × 1000 = 23,250 
42. (3)  Required average  

 = 15.5 18 14.5 10.5 6.5
1000

5
+ + + +é ù´ê úë û

 

43. (1) 

44. (2)   Required population =
120

10.25 1000 12,300
100

´ ´ =   

45. (3)  Required ratio = 4.75 : 9.5 = 1 : 2 
46. (4)  Expenditure of company P in the year 

2001 = 
510

100 Rs425lakhs
120

´ =  

\Required less% 490 425 100 %
490
-æ ö= ´ç ÷

è ø   

               
= 13.26% »  13% less 

47. (1)  Expenditure of company Q in the year 2004  
= 490 – 10 = Rs.480 lakh 

Required profit % 590 480
100 %

480
-æ ö= ´ç ÷è ø  

= 22.91% »  23% 

48.  (1)   Total  incomes  of  company  P  and  Q  together  in  the  year  
2003 

116 117
370 380

100 100
= ´ + ´

 
= 429.20 + 444.60  

= Rs. 873.80 lakh 

\Required average = 
873.80

2  
= Rs. 436.9 lakh 

49. (5)  Expenditure of company P in the year 2005  
= 515 – 30 = Rs. 485 lakh 

\Required % 485 100 %
515

æ ö= ´ç ÷
è ø  

= 94.17% »  94% 

50. (2)  Profit of company P in the year 2004 
= 580 – 490 = Rs. 90 lakh 

\Required % = 550 90 100 %
90
-æ ö= ´ç ÷

è ø  
= 511.11% » 511% 

51. (4)  P = 
8730 100

Rs.48,500
6 3
´

=
´

 

 
106 106

CI 48500 48500
100 100

\ = ´ ´ -
  

= 54494.6 – 48500 = Rs. 5,994.60 
52. (1)  Let the time to closed pipe Q = x minutes  

ATQ, 
18 x

1
24 36

+ =  

54 2x
1

72
+

Þ =
 
Þ 54 + 2x = 72 Þ 2x = 18  

Þ  x = 9 minutes 

53. (2)  Required number of ways = 
7! 4!

2! 2! 2!
´

´ ´  
= 15,120 

54. (2)  Let MP = Rs. 100 

SP = 
80

100 Rs.80
100

´ =  

CP = 
80 200

100 Rs.
120 3

´ =  

ATQ, 

20020 80 65
3

æ ö- - ®ç ÷
è ø

 

4020 65
3

æ öÞ - ®ç ÷
è ø

 

20
65

3
Þ ®  

65 3
80 80 Rs.780

20
´

Þ ® ´ =  

55. (4)  Speed in downstream = 
30
2

= 15 km/hr 

Speed in upstream = 
30
2

 = 5 km/hr 

\Speed of boat in still water = 
15 5

2
+

= 10 km/hr 

56.(2) I. 12 2x - 47x + 40 = 0 
Þ 12 2x - 32x - 15x + 40 = 0 

Þ 4x (3x - 8) - 5 (3x -8) = 0  Þ x = 5 8,
4 3

 

II. 4 2y  + 3y- 10 = 0 
4 2y  + 8y - 5y - 10 = 0 

Þ 4y (y + 2) - 5 (y + 2) = 0 Þ y = 5 ,
4

-2 

Clearly, x ³  y 
57.(3)  I. 3x  - 371 = 629  

Þ 3x  = 1000 
Þ x= 10 
II. 3y - 543 = 788  
Þ 3y = 1331 
Þ  y = 11 
Clearly, x < y 

58.(5)  I. 4 2x  - 20x + 21 = 0 
Þ  4 2x  - 14x - 6x + 21 = 0 

Þ 2x (2x - 7) - 3 (2x - 7) = 0 Þ  x = 3 7,
2 2

 

II. 9 2y  - 27y + 20 = 0 
Þ 2y - 12y - 15y + 20 = 0  

Þ 3y (3y- 4) - 5 (3y - 4) = 0 Þ y = 5 4,
3 3

 

59. (3)  I. 2x - 5x + 6 = 0 
Þ 2x - 3x- 2x + 6 = 0 
Þ x (x- 3) - 2 (x- 3) = 0 Þ x = 3, 2 
II. 2y - 9y + 20 = 0 
Þ y2- 5y - 4y + 20 = 0 
Þ y (y - 5) - 4 (y - 5) = 0 Þ y = 5, 4 
Clearly, x < y 

60. (2)  I. 2x - 1 = 0 
Þ 2x  = 1 Þ x = +1, -1 
II. 2y + 4y + 3 = 0 
Þ 2y + 3y + y + 3 = 0 
Þ y (y + 3) + 1 (y + 3) = 0  Þ y = -1, -3 
Clearly, x ³  y 

61. (2)  
2914.01 1.99 510.01

31.1 3.01 169.99
´ ´ =? 
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2914 2 510

? 188 186
31 3 170

Þ = ´ ´ = »  

62. (3) 
1787.44

48.79 1.06 ?
34.88

Þ ´ + =  

 
1787

? 49 1
35

Þ = ´ +
 
= 2501.8 + 1 = 2502.8 »  2500 

63. (1) 44950 ? 16+ =  

 ( )244950 ? 16Þ + =  

 256 212 ?Þ = +  ? 256 212= = -  

 ( )2? 44 1936 1940Þ = = »  

64. (4) 4360 6806 46.02 ?- + =  
Þ  ? = 66 – 26 + 46 = 86 

65. (3)  42.33 + 66.83 + 59.98 – 112.01 = ? 
Þ  ? = 57.13 »  57 

66-70. In the first step, word starting with last letter according to 
alphabetical order kept on starting position and smallest 
number kept on last position and in the second position 
the second step follows the same rule and so on. 
Input: dog on 29 cross 55 ant 98 49 unless 68 
Step I: unless dog on cross 55 ant 98 49 68 29 
Step II: unless on dog cross 55 ant 98 68 4929 
Step III: unless on dog cross ant 98 68 55 49 29 

66. (4)   67. (5) 
68. (4)   69. (5)    70. (4) 
71-75. 

Tuesday Wednesday Friday Saturday
F Goa M Delhi P Kerala H Mumbai

K Bangalore D Punjab B Kolkata
® ® ® ®
- ® ® ®

 

71. (1)   72. (4) 
73. (2)   74. (3)   75. (5) 
76-80. 

  
76. (5)    77. (3) 
78. (5)   79. (2)    80. (2) 
81-85. 

 

Student Subject Game City

P Engl i sh Badminton Chennai

Q Hindi Chess / Carrom Kol kata

R Sanskri t Kho - Kho Mumbai

S Sci ence Ludo Delhi

T Art Cricket Mumbai

U Sci ence Ca rrom / Ches s Hydera bad

V Sanskri t Foot bal l Bangalore  
81. (5)    82. (5)  
83. (5)   84. (4)   85. (2) 
86. (4)  D ³  I > F > N = R > U 

I. F > U ® True 
II. D > R ®  True 
III. N ³  I ®  False 
IV. U < D ®  True 

Only I, II and IV are true 
 
87. (5)   M > S £  P £  K > C = D ³  J 

I. C ³  P ®  False 
II. M > J ® False 
III. S £  D ® False 
IV. P > J ® False 
None is true 

88. (3)  S £  T = U < P £  X = W 
I. W > S ® True 
II. P £  V ® False 
III. X > T ®True 
IV. U £  W ® False 
Only I and III are true 

89. (1)  B £  C = E £  F ³  G < M = J 
I. G ³  C ® False 
II. F ³  B ® True 
III. E < M ® False 
IV. J > C ® False 
Only II is true 

90. (2)  Q > N ³  M ³  K ³  B > E ³  C = F 
I. N > C ® True 
II. M ³  B ® True 
III. F < Q ® True 
IV. C < K ® True 
All are true 

91-95. 

  
91. (4)   92. (3) 
93. (5)   94. (1)   95. (5) 
96-97. 

  
96. (5)    97. (1) 
98-100. 

  
98. (2)    99. (3)    100. (4) 
 


